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BIE  |BEMES HVERIE B CHYEti + > % —) —fmEE | 2 0.018] 0.014 ~  0.022
BIE B WERIER —fmE | 2 0.032| 0.030 ~  0.033
BIE  |AHACEREIERT  [EERIER —fmEE | 2 0.036] 0.035 ~  0.036
BHE  |[EHS BHE —fmEtE | 4 0.060[ 0.027 ~ 0.12
EHE  |mES AR —fpmsE | 4 0.038] 0.027 ~  0.047
BHE |[XBH KER —fmEtE | 4 0.031| 0.019 ~  0.043
BHE  |MaTH RER —fEE [ 4 0.035| 0.018 ~  0.050
MET LT L EUNT! —fmE | 4 0.053| 0.033 ~  0.093
WRE |EtrEET HER —fEE | 4 0.032| 0.020 ~  0.060
EHFE |[EBM BETHEIE R —pemEtE | 4 0.030[ 0.022 ~  0.040
EBE |EB® W/ —fpmsE | 4 0.097| 0.034 ~ 0.24
EHFE |[EBM EHEHLE —fmE | 4 0.050] 0.024 ~  0.072|"RIsEEBEAEE
EBE  |W&H REBEFER —fpmsE | 4 0.030] 0.017 ~  0.041
EBE |t@EH tRARFER —fmE | 4 0.040[ 0.028 ~  0.049
EHE  |REH BEARTER —fpmsE | 4 0.047| 0.026 ~  0.060
EHE  |Rm BHEARFTER —pemEtE | 4 0.031| 0.024 ~  0.036
EHE  |XHEH AHERFER —fpmsE | 4 0.020] 0.015 ~  0.024
EBE | KEBAEH |(KZARTEH —pemEtE | 4 0.027| 0.016 ~  0.053
EEE e hRAIER —fpmiE | 4 0.052| 0.034 ~  0.073
FEE kB JeEBAIER —fmE | 4 0.037| 0.028 ~  0.048
e8| KiEH KiEF  BXIEFEHES AL —fpmiE | 2 0.031] 0.029 ~  0.032
I B2 =1 ™ TEREIES —RRIRER 2 0.023| 0.017 ~ 0.029
RS |chiE)h hiz)id AR —fpmiE | 2 0.017| 0.015 ~  0.018
T EY Vb EERMET  ERMETRR —fmE | 2 0.070] 0.019 ~ 0.12
FEE |t T LR —fmEE | 2 0.028] 0.022 ~  0.033
I B2 IR hfEm EEmERRERETS —RRIRER 2 0.042| 0.035 ~ 0.049
BEE  |gES Tl —fpmsE | 4 0.020] 0.012 ~  0.028
BEE  |gES oh B Bk 155382 —fmE | 4 0.020] 0.014 ~  0.024
BEE  |gES EREmTEEIER —fpmsE | 4 0.023] 0.017 ~  0.027
BEE  |gES EKERE—/IEREIER —fmE | 4 0.040[ 0.032 ~  0.046
BEE  |gES EKEAPERBER —fmEE | 4 0.060] 0.048 ~  0.087
BEE  |gES BEXAAER —fmEtE | 4 0.039| 0.028 ~  0.058
BEE  |ER® RTINS BN —fmEE | 2 0.030] 0.018 ~  0.042
BEE  [ERH ERT R SRR —fmE | 2 0.032| 0.032 ~  0.032
BEE  |ER® SRR SR AR —fmEE | 2 0.049| 0.026 ~  0.072
BEE  [ERH SERATIIL AL RN —fmE | 2 0.022| 0.019 ~  0.025
BER BiET EEhEEARE —HRIREE 4 0.11] 0.073 ~ 0.19
BEE  [BEm PEMRt L8 — —fmE | 4 0.19] 011 ~ 0.39
BEE  |BErd BEHRBEVS— —fEE [ 4 0.068] 0.049 ~  0.093
Bl BiEm BEMILE=RER —RRIRER 4 0.047| 0.032 ~ 0. 065
BEE  |aveW TR —fpmsE | 4 0.026] 0.022 ~  0.034
BEE |[ExEm ELEHRT —fmE | 4 0.10] 0.050 ~ 0.16
BEE |Ex® ELTRAERtE S — —fEE [ 4 0.099| 0.045 ~ 0.14
Bl =t ERE=ZPER —RRIRER 4 0.10| 0.068 ~ 0.12
BEE  |E@A® EERFHRHR —fpmsE | 4 0.024| 0.022 ~  0.025
Bl B IE T R 5 T P —RRIRER 4 0.036| 0.020 ~ 0. 050
HBEE |TE® THEMRR —fpmsE | 4 0.017| 0.011 ~  0.022
BEE |[BBS EHHREX bt 82— —fmE | 4 0.065| 0.029 ~ 0.10
BEE  |MES HEm R —fpmsE | 4 0.032| 0.021 ~  0.051
Bl FEOEST KiZdbheER —fRIRES 4 0.030| 0.017 ~ 0. 041
BHME |&EEW EHEXHR —fpmsE | 4 0.063| 0.046 ~  0.096
BHME |&HET BEEKIS —fmE | 4 0.052| 0.041 ~  0.070
BHME |&EEW FILREFRD —fpmsE | 4 0.041] 0.034 ~  0.053
BHME |&HET EHREEE —fmEtE | 4 0.036] 0.0256 ~  0.049|FRIsEEBELHEE
BHME  |2Eh KSR —fpmsE | 4 0.052| 0.014 ~  0.086
BHME |25 B —femEtE | 4 0.027| 0.018 ~  0.038
BHME BT BhRSTREE 2 — —fmEE | 4 0.032| 0.019 ~  0.050
BHME BT AETREREEY 4 — —fmE | 4 0.033| 0.019 ~  0.059
BHME |&EBHT IS —fpmsE | 4 0.051| 0.041 ~  0.062
BHME  |BITE BN Sil) —fmE | 4 0.031| 0.021 ~  0.038
BHME  |EZBTh EEMIEARE —fpmsE | 4 0.077| 0.053 ~ 0.10
BHME  |MaTh A THRATRE —fmE | 4 0.086| 0.047 ~ 0.18
BHE |ZAH LEmESBIER —fpmsE | 4 0.032| 0.018 ~  0.049
BHME |Z2AT £ M gk RE 2 A —fmE | 4 0.028] 0.020 ~  0.038
ZHE T THENBR —HRIREE 3 0.048| 0.038 ~ 0.063
BHME |@EET BER—LARER —fmE | 4 0.053| 0.032 ~  0.091
BHME  |/M&E IMNEERR —fpmsE | 4 0.047| 0.036 ~  0.056
BHME  |FWH BRI E BT —fmE | 4 0.053| 0.036 ~  0.072
BHME | BABEME  |EHHERS —pms | 4 0.049| 0.036 ~  0.065
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—HRIREE
MERFR FR7EH#E AIRE Hh Hhigi 5348 ﬁ F9E 2R (pe-TEQ/m®) 5 &
8| (oe-TEQ/m) | B2y BX
ZHIE BEEIREN  |REFNRZEBE —fRIRER 4 0.12[ 0.070 ~ 0.21
=EE T A E/NER —iRIRtE 4 0.024| 0.019 ~  0.032
=R mAEfH ETESHK —RRIRER 4 0.032| 0.029 ~ 0.038
=558 o A mAMEESR — RIS 4 0.023] 0.015 ~  0.028
=R mAEHH ZIRINERR —RRIRER 4 0.39[ 0.065 ~ 0.73
=55 FEH FHBEEPER —iRIRtE 4 0.022| 0.013 ~  0.028
=R BRI RS R /NFERR —RRIRER 4 0.026/ 0.016 ~ 0. 041
=55 &2 REEEER —iRIRtE 4 0.033] 0.022 ~  0.051
=ER fhEET HEBEFR —HRIRLE 4 0.029] 0.019 ~ 0.039
=55 £5RH BRIER —iRIRtE 4 0.024| 0.015 ~  0.034
=5E BB BEEO L/ — IR 4 0.031] 0.011 ~  0.062
=558 gLH BILE/NER — RIS 4 0.027| 0.020 ~  0.042
=ER BRH BEREPER —HRIRLE 4 0.027| 0.013 ~ 0.043
=558 FEH FEHEAR — RIS 4 0.035| 0.014 ~  0.047
HEE KiEh M —HRIRLE 4 0.028] 0.026 ~  0.033
HER Kz LA — RIS 4 0.019] 0.012 ~  0.028
HER RiE™ iR —iRIRE 4 0.023] 0.019 ~  0.027
HER B b — RIS 4 0.034| 0.025 ~  0.045
HER HEM B —iRIRLE 4 0.093[ 0.019 ~ 0.18
HBER =i=Ti SiE —HRIREE 4 0.019] 0.013 ~ 0.029
HEE gl FHET —iRIRE 4 0.082[ 0.019 ~ 0.23
BT RERTH ERRER — RIS 4 0.020] 0.014 ~  0.026
TUERRT RETH miRAEL —iRIRE 4 0.024| 0.018 ~  0.026
REBAT mEsT IWRHR AT —HRIREE 4 0.021 0.012 ~ 0.027
TUERRT RETH EEBEERETR —HRIRLE 4 0.025 0.023 ~  0.028
BT RERTH AERERT — RIS 4 0.014| 0.011 ~  0.018
TUERRT RETH ERES —iRIRE 4 0.022| 0.018 ~  0.028
BT RERTH RER — RIS 4 0.037| 0.025 ~  0.045
TUERRT RETH TR AT —iRIRE 4 0.019] 0.014 ~  0.026
BT RERTH ABER — RIS 4 0.037| 0.023 ~  0.051
TUERRT RETH TER (EHHAHELAETHER —iRIRE 4 0.027| 0.017 ~  0.035|FEmIsEEBELAE
REBAT BElh BRILAIER —HRIREE 4 0.018] 0.012 ~ 0.021
TUERKF SBhH REBIER —iRIRE 4 0.017| 0.014 ~  0.019
BT FAH FRAER — RIS 4 0.028] 0.019 ~  0.047
TARRT BREH BREAIER —RRIRER 4 0.019| 0.013 ~ 0.025
REBAT A ERAEILET | AEILBIED —HRIREE 4 0.048] 0.036 ~ 0. 060
TUERKF AERMBEN  (BEINER — RIS 4 0.041 0.024 ~  0.063
KB AT KBt BN ERB —HRIREE 4 0.063] 0.050 ~ 0.092
KERFF KBRH BB TR — RIS 4 0.16| 0.087 ~ 0. 31
KB AT KBt TRE/INER —HRIREE 4 0.17 0.12 ~ 0.23
KERFF KBRH BRI — RIS 4 0.087[ 0.072 ~ 0.12
KB AT KBt PR —HRIREE 4 0.15[ 0.098 ~ 0.20
KB AF KBr AL/ —RRIRER 4 0.074] 0.061 ~ 0.095
KB FF KB FERREA—IL —iRIRtE 4 0.16] 0.059 ~ 0.36
KERFF KBRH FR)IR &R —HRIRLE 4 0.060] 0.046 ~  0.087
KB AT KBt LTE X &R —HRIREE 4 0.067| 0.054 ~ 0.077
KERFF KBRH PEIT/NERR — RIS 4 0.059| 0.045 ~  0.082
KB AT KBt BN —HRIREE 4 0.066/ 0.032 ~ 0.12
KERFF KBRH B LU TR 2R — RIS 4 0.13| 0.072 ~ 0.22
KB AT KBt EER KR —HRIREE 4 0. 091 0.058 ~ 0. 12| ERISEEBRELRAST
KB AF R LPHFER (DHRFNER) —RRIRER 4 0.056| 0.040 ~ 0.080
KB AT Ll ENER ERETER) —HRIREE 4 0.029] 0.018 ~ 0.037
KERFF R AR (EE/NER) —HRIRLE 4 0.051| 0.036 ~  0.085
KB AT Ll EJL T —HRIREE 4 0.046/ 0.030 ~ 0. 065
KERFF EREH EHRGRARR —HRIRLE 4 0.065| 0.051 ~  0.087
KB AT Zoh HHB —HRIREE 4 0.045| 0.028 ~ 0. 061
KERFF AT tEATIEERER —HRIRLE 4 0.016] 0.012 ~  0.021
KB AT W™ WwHTIIER —HRIREE 4 0.045| 0.031 ~ 0.064
KERFF wETH WHEHGEHEBER —HRIRLE 4 0.056] 0.039 ~  0.092
KB AT W™ WwHALEE R —HRIREE 4 0.023| 0.016 ~ 0.031
b RKEM RKEHRAD —HRIRLE 4 0.080[ 0.056 ~ 0.10
KR FF EHH EHER — RIS 4 0.19] 0.035 ~ 0.56
KERFF =HiH EHILE —HRIRLE 4 0.053| 0.026 ~  0.085
KR FF EHH RSN REE — RIS 4 0.054| 0.046 ~  0.062
KB AF = AABARE —HRIRLE 4 0.054| 0.045 ~ 0.070
KR FF EHH =BIARE —iRIRtE 4 0.039] 0.035 ~  0.045
KERFF BiFEh BEAHEBER —HRIRLE 4 0.062| 0.042 ~  0.087
KR FF SFOH SFORBRRR —iRIRtE 4 0.063] 0.046 ~  0.097
KERFF wA™ FCoBER —HRIRLE 2 0.054| 0.045 ~  0.063
KBR AT wAH WER —ARIRIE 2 0.044] 0.030 ~ 0.058
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—HRIREE
HERFR i HIE 4 iz 5348 ﬁ FHE | EEEE (og-TEQ/m) " =
8| (oe-TEQ/m) | B2y BX
PN G EER —fgmE | 2 0.065| 0.065 ~  0.065
KRR |#A® BEE —fpmE | 2 0.094| 0.057 ~ 0.13
KRR |#%AT WATRFR —femEtE | 4 0.053| 0.039 ~  0.062
N EET N FATRARD —fpmsE | 4 0.039| 0.020 ~  0.053
KWRRF  |/\EH WIS —fmE | 4 0.13| 0.078 ~ 0.22
NN I\BREFRD —fmEE | 4 0.088| 0.043 ~ 0.14
KRR |REHT EHREEKR —fmE | 4 0.046| 0.025 ~  0.066
KRR |EE#HS EEMRTRFTR —fpmsE | 4 0.072| 0.042 ~ 0. 11
KRR |BEIIE BEIHRFAD —fmE | 4 0.057| 0.047 ~  0.066
KRR |[TREBH ZHTARER —fmEE [ 4 0.033] 0.023 ~  0.042
PN NG WEmRR —fmE | 4 0.12| 0.066 ~ 0.24
KRR |K=Ed AEFRFD —fpmsE | 4 0.057| 0.037 ~  0.068
KRFF  |FIRT #o BINVERR —fmE | 4 0.037| 0.026 ~  0.047
KBRAF tHERM I EEZERR —RRIRIE 4 0.082] 0.050 ~ 0.12
KRR |B&ET SAETEER —fmEtE | 4 0.076| 0.061 ~  0.096
PN St EHETRFD —fpmsE | 4 0.098| 0.056 ~ 0.20
KB AF E PN JEETFF& —RRIRER 4 0.063| 0.028 ~ 0.099
KRR |®RmEh RETEAD —fpmsE | 4 0.041] 0.024 ~  0.052
KIRFF  |PigEmsH BGD SUNR— A8 — —fmE | 4 0.049| 0.039 ~  0.060|FRIsEEBELHEE
ARFF |BREE B —fpmsE | 4 0.026] 0.015 ~  0.039
KRR |=BHMEARE |BRE&RISR —fmE | 4 0.031] 0.020 ~  0.036
KRR |REERUSET IRRT %155 —fmEE | 4 0.027| 0.018 ~  0.040
EEE |[#WFMm ERRERR —fmE | 4 0.021| 0.018 ~  0.026|FRIsEEBELHEE
EERE  |E®® I\KRBIER —fmEE | 4 0.046| 0.028 ~  0.055
EER IR WERER —RRIRER 4 0.037| 0.028 ~ 0.048
EERE  |E®® ECERER —fpmiE | 4 0.059| 0.043 ~  0.090
EER IR HEERIER —RRIRER 4 0.11] 0.036 ~ 0.15
EERE |BEH BT /N AR —fmEE | 2 0.12| 0.070 ~ 0.16
EER fElgT BIETIBIBERSFFR —RRIRER 2 0.051| 0.032 ~ 0.070
EERE |BHAE® AR BRI 52— —fmEE | 2 0.040] 0.025 ~  0.054
EEE |HA® ERiEKkis —fmE | 2 0.053| 0.029 ~  0.077
EERE |@EE® BEEMERD —fpmiE | 4 0.051] 0.025 ~  0.071
EEE MRS EEENEAREFS —fmE | 4 0.021| 0.016 ~  0.032
EER |BEW MEFNETA —fpmiE | 4 0.022| 0.013 ~  0.029
EER FFh RATHEEE —RRIRER 4 0.061| 0.028 ~ 0.1
EERE |Z@E® EEREMHRAEFES —fpmiE | 4 0.013| 0.0092 ~  0.018
EEE  |[m®E EiER —fmE | 4 0.041] 0.029 ~  0.071
EERE  |mEl® EHB —fpmiE | 4 0.041] 0.037 ~  0.051
EEE  |FEH FEEHRATAIER —femEtE | 4 0.033] 0.010 ~  0.052
EER Ficl ) il g e —HRIREE 4 0.025[ 0.022 ~ 0.028
EEE |FEH SYUBHNVAIERER —fmE | 4 0.020] 0.016 ~  0.024
EEE |=K® = KRR —fEE | 4 0.031] 0.019 ~  0.047
EEE |BM® SRHEFREER —fmE | 4 0.043| 0.028 ~  0.075
EERE  |E® NETRRE 2 — —fEE | 4 0.024| 0.016 ~  0.040
EEE |=@w® =AHRITAER —fmE | 4 0.020] 0.014 ~  0.026
EERE  |PAE® EERHEREFSRER —fpmiE | 4 0.011| 0.0075 ~  0.015
EEE |RE® LIS BT 1535 —fmE | 4 0.021| 0.0069 ~  0.038
EEE |foom =2 OHEFTAER —fEE | 4 0.031] 0.015 ~  0.060
EEE  |mEENEEE  |[BEERSIER —fmE | 4 0.030] 0.010 ~  0.046
EER |[EBRBAFH [ AFEHRSIES —fpmsE | 4 0.035| 0.017 ~  0.070
=RE |EBW BEEHASELAER —femEtE | 4 0.048] 0.029 ~  0.070
ZRE E3:41 ERTELVERES —HRIREE 4 0.043| 0.026 ~ 0. 069
=RE | KAEET SER (KHSEHRHRN) —fgmE | 2 0.23| 0.033 ~ 0.42
B8 | XFBLF AL RRFIRE 2 REE —fpmiE | 2 0.088] 0.025 ~ 0.15
=RE |[XEH KER (REMMLFHER/NERR) —fmE | 2 0.085| 0.078 ~  0.091
E- LG i R (EREMIBRAFERN) —fpmE | 2 0.055| 0.027 ~  0.082
=RE  |4EH HER (EEEEALR) —fgmE | 2 0.070] 0.020 ~ 0.12
ZRE LAEHEBEFE |EFR (EFHHTERN) —RRRIE 2 0.088] 0.075 ~ 0.10
=RE  |[EBBTHE  [SHRER —fmEtE | 2 0.089| 0.068 ~ 0. 11
MG  |FoFRLS AEISIaA=F L E— —fmEE | 4 0.037| 0.023 ~  0.051
FILE  |F0ZRlS RAER T —femEtE | 4 0.028] 0.017 ~  0.048
MG  |FoFRLS ERERR —fpmsE | 4 0.036] 0.018 ~  0.062
FILE  |F0ZRlS REXFT —femEtE | 4 0.047| 0.022 ~ 0. 11
MTLE |mEdm MR —fpmsE | 4 0.035| 0.022 ~  0.052
LR [#FFRH AR —RRIRER 4 0.069| 0.055 ~ 0.093
TG  |fEss PLBBEGERR L L 2 — S RXF (8BS | 4 0.036] 0.020 ~  0.076
MPLE [AZH BEERETE —fRIREE 4 0.015 0.011 ~ 0.023
MRLE |FreEd HEmEm —fpmsE | 4 0.017| 0.014 ~  0.018
MTLE |BHE BEREFS —femE | 4 0.059| 0.027 ~ 0. 11
MTLE |HEBEENE [FHRISEXERE S — —fmEE [ 4 0.024| 0.019 ~  0.028
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—HRIREE
EBERF FR7EH#E AIRE Hh Hhigi 5348 ﬁ F9E 2R (pe-TEQ/m®) 5 &
8| (oe-TEQ/m) | B2y BX
EmE BEH BRI —RRIRER 4 0.021| 0.015 ~ 0.031
EmE KFH KRR —HRIREE 4 0.025| 0.016 ~ 0.037
EmE BEh BERERR — RIS 4 0.038] 0.014 ~  0.093
EmE EEmH EET &R —HRIREE 4 0.040| 0.023 ~ 0.071
BRE BT TR AR —HRIRtE 4 0.026] 0.019 ~  0.029
BRE EHET EREF—RBREXSAER —HRIREE 4 0.022| 0.016 ~ 0.031
SRE HEM HERBA—BBRERKAER —RRIRER 4 0.028] 0.017 ~ 0.035
BRE WA HHETBRREXKIERS —HRIREE 4 0.042] 0.021 ~ 0.063
BRE XATH AE—BBREXSAER —HRIRLE 4 0.018] 0.012 ~  0.022
BRE REH RE—RBEATAER — RIS 4 0.020] 0.015 ~  0.029
BRE pis=15) MR —REBEAKAER —HRIRLE 4 0.018] 0.015 ~  0.020
BRE ks BRI IS 0D B T | ) 5 MR e 1 R RE — RIS 4 0.0075| 0.0044 ~  0.0099|FERISEEBELRAE
FE LR & L1 ERXSAER —RRIRER 4 0.073] 0.037 ~ 0.13
f& LR ) HRAKBAER —HRIREE 4 0.033] 0.017 ~ 0.050
FE LR & L1 LT F P —RRIRER 4 0.040f 0.025 ~ 0.078
f& LR =E241) ENKGBLAER —HRIRIE 4 0.052| 0.019 ~ 0. 066
fE L B¥H BHENR (BEEZER — RIS 4 0.034] 0.032 ~  0.039|FmIsEEBELAE
f& LR =41 ) XEERRB —HRIREE 4 0.042] 0.030 ~ 0. 051
LR /N1 FONERAIER —HRIRLE 4 0.032| 0.025 ~  0.038
LER /NZTii) ERFRER — RIS 4 0.059| 0.044 ~  0.081
LR /ST RIEERERAAER —HRIREE 4 0.096| 0.078 ~ 0.12
LER /NZTii) ATER/INERGRIE R — RIS 4 0.11] 0.073 ~ 0.17
LR /ST RERAKR—YELE— —HRIRLE 4 0.28 0.12 ~ 0.38
L5R /NZTii) LB SRR — RIS 4 0.084| 0.051 ~ 0. 14| ERISEEBBERAE
LR & $RILRIE B —iRIRE 2 0.055| 0.048 ~  0.061
LBE am B —HRIREE 2 0.028] 0.024 ~ 0.032
LR & BEXA —iRIRE 2 0.059| 0.049 ~  0.069
LBE MIR™ MEREERE —HRIREE 2 0.021 0.017 ~ 0.024
LR = ZRERAER —HRIRLE 2 0.037| 0.029 ~  0.044
LER =) BERERR — RIS 2 0.12| 0.046 ~ 0.19
LR fEllm BhER —iRIRE 4 0.060] 0.032 ~ 0.11
LER Bl ERRB/INER — RIS 4 0.052| 0.037 ~  0.092
LR fEllm SRR —iRIRE 4 0.058] 0.046 ~  0.071
LBE falh BRXAT —HRIREE 4 0.066/ 0.028 ~ 0.17
LR fEllm 0 A — RIS 4 0.078] 0.036 ~ 0.12
LER Bl K /NERR — RIS 4 0.17| 0.034 ~ 0.41
LR FEsph FehmgEw 2 —RB —HRIRLE 2 0.061| 0.054 ~  0.067
LER EV il ERMERMTIELE2—B —iRIRtE 2 0.035| 0.013 ~  0.057
LEE K KTHERAER —HRIRLE 2 0.033] 0.029 ~  0.036
LER EUNCTT RLEBAESIMERR — RIS 2 0.034| 0.022 ~  0.045
LR ttEHH HTEHHELER —HRIRLE 2 0.082| 0.072 ~  0.092
LER REMEHE  [EEASKE — RIS 2 0.27 0.12 ~ 0.42
wog TEH TEATERFERR —HRIRLE 2 0.032| 0.031 ~  0.033
e TEH TEHREREHXAR —iRIRtE 2 0.029] 0.024 ~  0.033
[Ti=]" FEH FHHRMSNBLEL 2 — —HRIRLE 4 0.031] 0.025 ~  0.044
e =k BEREHEEL Y-/ —iRIRtE 4 0.017| 0.013 ~  0.025
[Ti=]" Fhh HESRE — RIS 2 0.019] 0.013 ~  0.024
e BRFTH M H&mR —iRIRtE 2 0.031] 0.018 ~  0.043
[Ti=]" EEH HER/NERE —HRIRLE 2 0.026] 0.025 ~  0.027
e WF MHAREELE 7 — —iRIRtE 2 0.032| 0.031 ~  0.033
wog FEfEh AETHERR —HRIRLE 4 0.023] 0.018 ~  0.028
mER mem EER —HRIREE 4 0.029] 0.023 ~ 0.042
EER 1BFH BFE —HRIRLE 4 0.039] 0.020 ~  0.072
mER AN INRER —HRIREE 4 0.067| 0.027 ~ 0.15
EER W KBEB —iRIRE 4 0.089] 0.026 ~ 0.17
mER =HIH IR —HRIREE 4 0.052| 0.022 ~ 0.11
EER E3n aps) —iRIRE 4 0.049 0.032 ~  0.058
HER =¥ SIFRIERT —iRIRtE 4 0.032| 0.018 ~  0.047
EER BEBERE  |(FEEES —iRIRE 4 0.014| 0.0099 ~  0.020
EmER REPEREE(ERT  |BEER —HRIREE 4 0.066/ 0.025 ~ 0.087
FIIR =1 EMMHIAKRARE —RRIRER 4 0.055| 0.027 ~ 0.097
FIIR Eak-Ni) ABHEFAE —HRIREE 4 0.032| 0.020 ~ 0.062
FIIR R REHERE —RRIRER 4 0.037| 0.020 ~ 0.062
FIR BESH BESHERAB — RIS 4 0.058] 0.029 ~ 0.13
EFINE EHEM ShERHER —HRIRLE 4 0.013| 0.0091 ~  0.025
FIR FIBESH |ESHREH — RIS 4 0.030[ 0.010 ~  0.080
FINE HEEBEADSE | TR EERBRIGHRENG —HRIRLE 4 0.011] 0.0070 ~ 0.016
BRE NI EARBEAKBIER —HRIREE 2 0.037| 0.027 ~ 0.047
ZRE Wil WILHTE —RRIRER 2 0.020| 0.014 ~ 0.025
BREE NI HMEAER —HRIRIE 2 0.060] 0.039 ~ 0.080
FEVRAEHKRIE. EFERUVEZZFEFETCFAULOABSNERRESIATOEVAZET,




FERIBEES A A X VEREATRERE (XR)

—HRIREE
#RE AT FRTEH: BT =2 i 5 ﬁ FE | R (pg-TEQ/m’) & &
8| (oe-TEQ/m) | B2y BX
BREE Wil HENMNERAER —RIRE 1 0.083[ 0.083 ~  0.083
BiRE i REERER —iRIRtE 1 0.051 0.051 ~  0.051
ZREE Wil (e NE| —RRIRER 4 0.15[ 0.095 ~ 0.19
2R =% KB —HRIREE 1 0.028] 0.028 ~ 0.028
g =3l HARY Ti5 —HRIRtE 1 0.021] 0.021 ~ 0. 021
SR =T KEGIKRY T —iRIRtE 1 0.018] 0.018 ~  0.018
g =3l WMARY Ti5 —HRIRLE 1 0.024| 0.024 ~ 0.024
2R =31 INEATREEE —HRIREE 1 0.017| 0.017 ~ 0.017
g =Yl I/ ARy i —HRIRLE 1 0.028) 0.028 ~ 0.028
SR =T HP TKLES —iRIRtE 1 0.099] 0.099 ~  0.099
g =3l BHRY Ti5 —HRIRLE 1 0.025 0.025 ~ 0.025
SR =T T T KIS — RIS 1 0.031] 0.031 ~  0.031
Mg =Yl CHEARY Ti5 —HRIRLE 1 0.023] 0.023 ~ 0.023
SR =T RHBEtE 2 — — RIS 1 0.025| 0.025 ~  0.025
Mg =3l RIERKR>Y Ji5 —HRIRLE 1 0.12 0.12 ~ 0.12
2R R=m RERUARRER —HRIREE 1 0.025| 0.025 ~ 0.025
EHIR Bl BRI RERR —RIRE 1 0.025 0.025 ~  0.025
B g5+ 18 S B R IERT —iRIRtE 1 0.016| 0.016 ~  0.016
EHIR ENEBOOET  |FHERTER —RIRE 1 0.019 0.019 ~  0.019
EER e A THESAD — RIS 4 0.025| 0.017 ~  0.042
EER Jt AT [BEFALAM GEEAMEERD) —iRIRE 4 0.029] 0.016 ~  0.043|FEmIsEEBELAE
=EER famEh BB —HRIREE 4 0.024] 0.013 ~ 0. 041
a8 fakEh SER —RRIRER 4 0.032| 0.017 ~ 0.052
=EER famEH B —HRIREE 4 0.031 0.018 ~ 0.038
a8 fakEh 5] —RRIRER 4 0.027| 0.016 ~ 0.043
=EER famEH bl —HRIREE 4 0.037| 0.017 ~ 0.075
EER e EER — RIS 4 0.019 0.013 ~  0.032
=EER ABXH ABXTREEE —HRIREE 4 0.054| 0.027 ~ 0.078
EER EAH EATEEL —RIRE 1 0.10 0.10 ~ 0.10
EER Il BB — RIS 4 0.075| 0.040 ~ 0.11
1EE R \&ih NEHIL)IENEREE —RIRE 1 0.011 0.011 ~  0.011
EER RE mrE2RARE —iRIRtE 1 0.020] 0.020 ~  0.020
1EE R KEH REAFIARE — RIS 1 0.024| 0.024 ~ 0.024
EER RE ZEELRE —iRIRtE 1 0.020] 0.020 ~  0.020
EER KEH I RAE — RIS 1 0.017 0.017 ~  0.017
=EER KEHTH MELRE —HRIREE 1 0.028] 0.028 ~ 0.028
EER RiIR™ REARAARE — RIS 1 0.018] 0.018 ~  0.018
=EER RIE™ FIL/NER —HRIREE 1 0.023] 0.023 ~ 0.023
BER BT WETNREE — RIS 1 0.023] 0.023 ~  0.023
HEER kBT EER —HRIREE 4 0.055| 0.025 ~ 0.10
EEER fEEh EER —HRIRLE 4 0.080] 0.020 ~ 0.23
EBR BTt BiER — RIS 4 0.091] 0.032 ~ 0.25
EBER BEEH KR —HRIRLE 4 0.050] 0.018 ~ 0.12
HEER i HiftB —HRIREE 4 0.039] 0.014 ~ 0. 081
EEER BESh BESR —HRIRLE 4 0.028] 0.012 ~  0.049
xR K& N BXFBAIER —HRIREE 4 0.029] 0.011 ~ 0.063
RIBFR {EtEES (R RERAT —HRIRLE 4 0.022| 0.011 ~  0.049
RIBR BEM EBREREYBREREVE— —iRIRtE 4 0.032| 0.011 ~  0.046
RIGE REH FEER R E AT —RRIRER 4 0.039| 0.0081 ~ 0.089
xR Kt K RKBER —HRIREE 4 0.031| 0.0098 ~ 0. 081
RIBFR LNt HETH &R —HRIRLE 4 0.013| 0.0073 ~  0.022
xR Sk SRR —HRIREE 4 0.014| 0.0082 ~ 0.028
RIBFR TR EREERET B2/ NERRKAER —HRIRLE 4 0.033| 0.0083 ~  0.087
BEARR N Ry BHER —fiRIRtE 2 0.072| 0.061 ~  0.082
AR AT HERIER — RIS 2 0.046] 0.035 ~  0.057
BEARR N th /R — RIS 2 0.053] 0.044 ~  0.062
AR AT TR/ — RIS 2 0.047| 0.028 ~  0.065
BEARR N SIEILNVERKOR —fiRIRtE 2 0.014| 0.0084 ~  0.019
REXE REXRT JI E/hEgR —RRIRER 2 0.11 0.093 ~ 0.13
BEARR N KBAER — RIS 2 0.050| 0.034 ~  0.065
AR AT BERAMER —HRIRLE 2 0.041 0.028 ~  0.054
BEARR N FRAE HINER —fiRIRtE 2 0.064| 0.037 ~  0.090
AR AT KITRtEV2— — RIS 4 0.054| 0.021 ~ 0. 10| ERI8EEBBARE
RKOE Kemh R EIREEMAER —HRIREE 4 0.025| 0.015 ~ 0.034
KB it RENERBIER —RRIRER 4 0.028/ 0.011 ~ 0. 046
RKOE AlRFH AMFERARBGEIULE 2 — —RRIRIE 4 0.023] 0.017 ~ 0.028
KB aar= il ERIREF EE IR —fRIRER 4 0.026/ 0.012 ~ 0. 051
AHR BHE AERKERFRELEV S — —iRIRtE 4 0.022| 0.019 ~  0.025
KHE 30 ERTERE_FS — RIS 4 0.017 0.012 ~  0.021
KOE PR TR —HRIRIE 4 0.015] 0.011 ~ 0.019
FEVRAEHKRIE. EFERUVEZZFEFETCFAULOABSNERRESIATOEVAZET,




FRISEES A4 XL VEREREHER (KR)

—HRIREE

MERFRA|  AE AT AR g5 48 ﬁ Ti9fE | #EEEE (e-TEY/n) w =
| (pe-TEQ/mY) | B/ BA

=GR El:n BAFRAER — BRIt 4 0. 031 0.014 0.047

=% R B HRMIIKEER —HRIREE 4 0.011] 0.0072 0.020

EREE |ERE® HRFR —mis | 4 0.017| 0.014 0.024

EREE [EBRESh RERBREUA—BIER —fRIREE 4 0.030 0.020 0.045| FRI1BEEIBIBELAE

BERBE |EETH FFEREREEERMN —iRIREE 2 0.034 0.027 0.040

EREE |&Em EEERFE —fRmE | 2 0.021| 0.018 0.023

BERBE |EBT EndRoBE —iRIREE 2 0.019 0.012 0.026

HBE |BEW BERHRAE —fEEE | 4 0.010 0.0076 0.015

HEe  |mEm RIEHER —ppmis | 4 0.010| 0.0064 0.015
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FRISEES A4 XL VEREREHER (KR)

FA4REI
MERFRA|  AE AT AR 1548 ﬁ FHE | RERE (pe-TEY/m) w =
| (pg-TEQ/mY) | B/ BA
dtiEE FLIET BB/ FRERED| 2 0.020 0.015 ~ 0.024
deiEE FLIET FHRER/NER FERED| 2 0.033 0.010 ~ 0.055
dtiEE FLIET FBER/NER FRERED| 2 0. 026 0.013 ~ 0.038
timE iR BB RER FERERD| 2 0.066] 0.012 ~ 0.12
dtiEE FLIETH ALEAL R FRERED| 2 0.034 0.018 ~ 0.049
dtiEE FLIRH iR 2R FERED| 2 0.024 0.019 ~ 0.028
dtiEE FLIET AL ERIS FRERED| 2 0.022 0.017 ~ 0.027
tiEE FLIE™ HULDBFRINERR FERED| 2 0.015] 0.0084 ~ 0.022
dtiEE LR BIEESK FRERED| 2 0.018 0.014 ~ 0.022
deiEE FLIRT ERZIN RERRD| 4 0.024 0.019 ~ 0.032| R I8EEIBELAE
tisE  |=mEw FRRFEEATR FEFEDD| 4 0.045| 0.016 ~ 0.10
timE =@ WEKARRER FEREDD| 4 0.023] 0.013 ~  0.041
dtiEE Eihil BEEAER FRERED 4 0.017 0.010 ~ 0.028
mE |[EEE EINgT - B/ K FEREDD| 2 0.023] 0.021 ~ 0.025
dtiEE NG RHB FRERED 4 0.014] 0.0086 ~ 0.022
tmE |Iam TR - ALK FEREDD| 4 0.037] 0.011 ~  0.083
dtiEE beEsiil B¥H - FEHMX RERED| 2 0.044 0.030 ~ 0.058
EnE  |E&W EHRMILEMNER FEREDD| 4 0.042] 0012 ~ 0.11
BEHE AL ShRTT T KL FRERED 4 0.028 0.016 ~ 0. 040
THEE J\F J\F MR F/NER FRERED| 4 0. 031 0.021 ~ 0. 057
BEHE M BH DB EENER FRERED 4 0. 031 0.012 ~ 0.075
EHRE | L |SAETREEttL 8 — FEREDD| 4 0.023] 0.011 ~  0.039
EFE B BETHRBREMN T FRERED 4 0.018] 0.0073 ~ 0.032
AFR s ) FE bR ik B RIGKIERR FRERED| 4 0.011] 0.0061 ~ 0.015
=HE e ERERFABTRY—ER o8 — |SEEED| 4 0.030| 0.018 ~  0.050
=R e RIEERHL /N AR FRERED| 4 0.033 0.022 ~ 0.060
=HE e BRNER FEFEDD| 4 0.010| 0.0078 ~  0.013
=HE e WEmEREIEEE Y2 — FERDD| 4 0.023] 0012 ~ 0.052
FHE =) =B FRERED 4 0.024 0.014 ~ 0.033
=R e WaETRt 42— FRERED| 4 0.016] 0.0079 ~ 0.025
AR AT AT EF /N FRERED 4 0.022| 0.0076 ~ 0.044
IS 1) MBRARE FRERED| 4 0.028 0.010 ~ 0.063
Wie  |Wikw Wi I AR INER FEFEDD| 4 0.024] 0.013 ~ 0,049
EEE  |smEmwm SEEME (K3) A FERERD| 2 0.023| 0.0094 ~  0.037
BEE  |aEEnm £EEMH (K3) B FEFERD| 2 0.036] 0.011 ~  0.060
EEE  |smEmwm SEEME (K3) H FERERD| 2 0.027] 0.010 ~  0.043
EER WhEm W7y R,Tvo UNIETC) FERED| 1 0.010 0.010 ~ 0.010
BEER WhEM /NIETD FERED| 1 0.010 0.010 ~ 0.010
EER WhEm INJIET A FERED| 1 0.0084| 0.0084 ~ 0.0084
BEER WhEM NI RESNS VMIBTB) FERED| 1 0.019 0.019 ~ 0.019
EER B B (R2) A FERED| 2 0. 052 0.020 ~ 0.083
EEE  |aam B (K2) B FERERD| 2 0.17] 0.004 ~ 0.24
EER B B (R2) H FERED| 2 0.039 0.022 ~ 0.055
EEE  |EEN® AZNHE (K1) A FERERD| 2 0.018) 0.017 ~ 0.018
EER BEIIT BE)IW (K1) B FERED| 2 0. 026 0.019 ~ 0.033
EEE  |EEN® AENTH (K1) H FERERD| 2 0.016] 0.012 ~  0.019
EER WEERR K HERT KEEHT (K4) A FERED| 2 0.022 0.019 ~ 0.024
EEE  |WEMASEET | XEET (X4) B FERERD| 2 0.042| 0.028 ~  0.055
EER WEERR K HERT KAEHT (K4) H FERED| 2 0. 081 0.051 ~ 0.11
HAE  |FmEm EREINER FEREDD| 4 0.13[ 0.030 ~ 0.36
HAE  |2R® RATARELERN S FEFEDD| 4 0.17] 0.079 ~ 0.34
HAE BB AR RAREE FEREDD| 4 0.12] 0.062 ~ 0.19
HARE | T L Ry FEFEDD| 4 0.11] 0.059 ~ 0.19
HAE  |=Z@EW HEEGEERBENE FEREDD| 4 0.40] 0.052 ~ 1.4
HEE  |wEm BB TS E BN FEFEDD| 4 0.074] 0.044 ~ 0. 11
HER RIAE™ BB UTEY T4 — FRERED| 4 0.057 0.040 ~ 0.086
HEE  |wEm BB AR FEFEDD| 4 0.070| 0.045 ~ 0. 11
BEE | E B PR FEREDD| 4 0.091] 0.051 ~ 0.13
BER Il 2 7 BAE/NER FRERED 4 0.038 0.033 ~ 0.042
BER JIl#gTH TEA FRERED| 4 0.072 0.056 ~ 0.092
BER REAT™ =4R FRERED 4 0.067 0.058 ~ 0.072
BER Jiiam FiZ®4TH FRERED| 4 0.076 0.037 ~ 0.13
BER =k MTERAER FRERED 4 0.072 0.032 ~ 0.11
BER iR ZEAER FRERED| 4 0. 053 0.035 ~ 0.070
EEIN =S (IB) KEMEEE IS > F R FRERED 4 0. 046 0.026 ~ 0.067
METNNE | NETH BRI RERRD| 4 0.047 0.032 ~ 0.067 | FRISEEIBELAE
#/E)R [#EEET BIEITHRE V2 —08E FRERED 4 0.032 0.018 ~ 0.049
=) |wAE® AERGBE S — FEREDD| 4 0.028] 0.010 ~ 0.043
L a0 BERASEER FEFEDD| 4 0.077] 0.061 ~ 0.12
MR [HBERT HEEISM B VLS FAERED| 4 0.053 0.030 ~ 0.074
FUHAEHERIE. BEERVUEZZ2STCFRIULOAESER IATOEVMEAZST,




FRISEES A4 XL VEREREHER (KR)

FA4REI
MERFRA|  AE AT AR 1548 ﬁ THiE | EERE (pe-TEY/n) % =
| (pe-TEQ/mY) | B/ BA
=8 [fEERs BRESEER RERERD| 4 0.068] 0.034 ~ 0. 11
#ME)E  (HBERT HEELE FRERED| 4 0. 065 0.044 ~ 0.089
L0 BRI AR FEFEDD| 4 0.13] 0.045 ~ 0.27
m=)E |[fEEs LBEEEE D ENE FERDD| 4 0.069] 0.030 ~ 0.11
Hing Feth o) FRERED 4 0. 055 0.034 ~ 0.079
e |L#m AEESNER FERDD| 4 0.15] 0.041 ~ 0.35
ELE KRS RIHBRELIS FRERED 4 0.013 0.011 ~ 0.018
EILR )| ERSLLLET |FREF/ N Y FRERED 4 0.024 0.010 ~ 0.053
EILE T BET |EIABT A EENRE FRERED 4 0.019] 0.0087 ~ 0.047
BNE | £ B KRR ETERS FERDD| 4 0.027] 0.019 ~  0.039
BIR | IMATTIL & BB/ FEFEDD| 4 0.082] 0.035 ~ 0.16
AINE N INATIL ST N FRERED| 4 0. 055 0.044 ~ 0. 068
BIE  |EEHIAE | TETERREEHKLE RS FEFEDD| 4 0.047 0.024 ~  0.074
EHE @ EEXIEHEE L2 — FEREDD| 4 0.073] 0033 ~ 0.13
BEHE BT BAEGKERY T8 FRERED 4 0.024 0.021 ~ 0.031
EHE  |pbom HEREEREL LA — FEREDD| 4 0.049| 0.031 ~ 007
BEHE HH o EHEEREL 2 — FRERED 4 0.044 0.023 ~ 0.065
BHE AT KEFI OS2 =—F4—t24— FRERED| 4 0.038 0.026 ~ 0.045
WEE |4kt BAMZESKRILF v /8 FEFEDD| 4 0.20] 0.033 ~ 0.56
EHE  |EBmW FBRADE FERERD| 2 0.026] 0.017 ~  0.035
RHFE &M ZYHAREE FERED| 2 0. 036 0.024 ~ 0.048
EHE  |EBTW EiSIB1BE FERERD| 2 0.013] 0.012 ~ 0.013
EHE |EHW® 2 AR—LEZRHE FEFERD| 2 0.035| 0.022 ~  0.047
EHE  |EBTW H o BN FERERD| 2 0.026] 0.015 ~  0.037
EHE |EHW® MLEREEREL 2 — FEFERD| 2 0.015| 0.013 ~  0.017
EHE  |EBTW R AT FEREDD| 4 0.15] 0.027 ~ 0.45
RHFE T LR FERED| 2 0.078 0.075 ~ 0.081
EHE  |EBTW EHHFH FERERD| 2 0.019| 0.015 ~  0.023
EHE |EHW® KT B/INER FEFERD| 2 0.088] 0.025 ~ 0.15
EHE  |wxm Rt FERDD| 4 0.045| 0.032 ~  0.066
RHFE WA™ LtSHLARE FRERED 4 0.027 0.022 ~ 0.035
EHE WARH 1L #e FRERED 4 0.030 0.019 ~ 0.046
RHFE @A™ BA (AE) FERED| 1 0. 030 0.030 ~ 0.030
EHE LtHEH ®A (BE) FERED| 1 0.038 0.038 ~ 0.038
RHFE BBl XHARE FERED| 1 0.017 0.017 ~ 0.017
EHE &y BENARE FEFED| 1 0.016] 0.016 ~  0.016
RHFE INEETH ERARE FERED| 1 0.071 0.071 ~ 0.071
EHE  |FBE TRt — FEFED| 1 0.041 0.041 ~  0.041
RHFE h 8 SR ALt FERED| 1 0. 060 0.060 ~ 0.060
EHE  |vHm TANRE FEFED| 1 0.032] 0.032 ~ 0032
RHFE EAT HERESRT FERED| 1 0. 054 0.054 ~ 0.054
EHE FehH KHEREIY M =) FERED| 1 0.013 0.013 ~ 0.013
RHFE Feirh ZRENARE FERED| 1 0. 035 0.035 ~ 0.035
EHE  |Taam B FEFED| 1 o1 o011 ~ 0.11
RHFE Fehh J\IEF KIS FERED| 1 0.022 0.022 ~ 0.022
EHE LERBEESRH |EEHANVEU A — FERED| 1 0.024 0.024 ~ 0.024
EHE | LERBRIF |IFESEE FEFED| 1 0.059| 0.059 ~  0.059
EHE | THEMBRIIE [RIIEEESH FEFED| 1 0.077] 0.077 ~  0.077
RHFE K& 28 _EHAET EEBAREE FERED| 1 0.014 0.014 ~ 0.014
EHE A& AR L FAET THERTZE Hh FERED| 1 0.022 0.022 ~ 0.022
B2 il ETmWILMER A REE RERED| 4 0.068 0.048 ~ 0.084| FRIBEERBEANAE
BHE |BEEMW BISE FEREDD| 4 0.060] 0.04 ~ 0074
BHE |BEE® BB EHRR FEFEDD| 4 0.053] 0.048 ~  0.056
BHE  |:@Em RAHKISER sEEDD| 3 0.095] 0.067 ~ 0.12
EHME el EEHXItRER FRERED 4 0.068 0.034 ~ 0.12
BHE  |mmEm BEENAINB FEREDD| 4 0.061| 0.042 ~  0.080
ERAT AR KEFHERD FRERED 4 0. 066 0.048 ~ 0.11
AT fEE ™ B o AVAC FRERED 4 0.013 0.010 ~ 0.014
REF |RAHE® A - BHEERERtL 4 —  |REEED| 4 0.015| 0.0088 ~  0.022
AT ZEIER R ILUESRT [ RILEET A E 8 RERRD| 4 0.025 0.013 ~ 0.034
EER #WEm IR R SERIFT FRERED 4 0.025 0.015 ~ 0.031
EES  |wFm EREBASESRD FEREDD| 4 0.034] 0024 ~ 0044
EER maEid RAFR FRERED 4 0. 060 0.031 ~ 0.10
MPLE  |FoFL R R LIRS FERERD| 2 0.039| 0.024 ~  0.053
MILE  |F0FLH B UERER FEFERD| 2 0.044 0.035 ~ 0,053
EHE B Rt X N REE FERED| 1 0.018 0.018 ~ 0.018
EHE B fAtZEABEODOR FERED| 1 0.017 0.017 ~ 0.017
EHE B BSHERLRE FERED| 1 0.022 0.022 ~ 0.022
BiRE WiIm TEMihfE Dz RERED| 4 0. 045 0.025 ~ 0.096
BLE  |asm WIASBLATE FEFEDD| 4 0.060] 0.036 ~  0.077
FUHAEHERIE. BEERVUEZZ2STCFRIULOAESER IATOEVMEAZST,




FRISEES A4 XL VEREREHER (KR)

FA4REI
MERFRA|  AE AT AR 1548 ﬁ THiE | EERE (pe-TEY/n) % =
| (pe-TEQ/mY) | B/ BA
[E[II=) EHH EHFHIALETREV S — FRERED 4 0. 035 0.031 ~ 0.037
BLE |=@EE EEASHER FEREDD| 4 0.065| 0.020 ~ 0.17
BLE  |#um BHASHER FEFEDD| 4 0.034| 0.015 ~  0.066
BLE |s2m S2%B FERDD| 4 0.028] 0.015 ~  0.052
] LR HRM HRRKAER FRERED 4 0.033 0.011 ~ 0.042
BLE |=Ed HEEMWRFARZD FEREDD| 4 0.019| 0.014 ~  0.029
[E[IT2) EJ(3i EEHE FRERED 4 0. 021 0.018 ~ 0.028
LR |&aw BENEER FERERD| 2 0.071] 0.050 ~  0.001
LER Bl BE/NEAR FRERED 4 0.13 0.034 ~ 0.39
LS =1l HEEREEE 2 — FRERED| 4 0. 045 0.025 ~ 0.060
EIEE SR SRBRER FRERED| 2 0. 035 0.027 ~ 0.042
BIEE  |FHER HRIEEE AR — LA EE FERERD| 2 0.051| 0.042 ~  0.059
EIRE J\EEH AL B NER FERED| 2 0.023 0.016 ~ 0.029
BIEE  |HiBER EEARE FERERD| 2 0.044] 0.042 ~  0.046
ZIRE maEm BENREREL 4 — FERED| 2 0. 031 0.030 ~ 0.032
BEE  |mEDRT [ b R R FERERD| 2 0.061] 0038 ~ 0084
128 e EWERD FRERED 4 0.063 0.045 ~ 0.089
EER  |damE 2IBHAB FEREDD| 4 0.033] 0019 ~ 0052
128 L Wy IERB FRERED 4 0.029 0.016 ~ 0. 056
12 R KEHEM BAAIER FRERED| 4 0.034 0.023 ~ 0.053
128 KEHT EEHRXERAER RERRED| 4 0.047 0.033 ~ 0.075| FRIBEERBEANAE
EAE  |Em IRIF TR RIS FEREDD| 4 0.056| 0.028 ~ 0. 11
128 AR AN RE FRERED 4 0.019 0.011 ~ 0.027
EEAE  |avEm AP E TN FERDD| 4 0.068] 0020 ~ 0.13
128 B AR ATET RERESF FRERED 4 0.047 0.022 ~ 0.076
RIFE RET BEEHARSE FRERED 4 0.024] 0.0097 ~ 0.048
RIBGE KFH TEEAARE FRERED 4 0. 060 0.010 ~ 0.15
AR |fERm WAL FERERD| 2 0.069] 0.037 ~ 0.10
AR |fExm B NERR FEFERD| 2 0.060| 0.051 ~  0.068
AR |fERm SR FERERD| 2 012 o012 ~ 0.12
RERE REART BTSN RE FRERED| 2 0.073 0.055 ~ 0.091
A |MmEm WMEH (TEE/NER) FERERD| 2 0.055 0.017 ~  0.003
ERR  |aEm BEH (AEHRHEEFS) FEFERD| 2 0.037] 0.019 ~  0.054
AR |SmEACEE |KGRET (BIBER) FERERD| 2 0.023] 0.014 ~ 0032
AL |MEIHNER  |NEE (NESR) FEFERD| 2 0.022| 0.020 ~ 0.023
AR | EISEREIRET |ZEMET (RRMETES) FERERD| 2 0.066] 0.066 ~  0.066
x58  |kpw SREINERAER FEFEDD| 4 0.036| 0.011 ~ 0061
A58 |xpm HASINERAER FERDD| 4 0.048] 0.030 ~ 0.070
x5E  |kEmw B EREERTEMR FEFEDD| 4 0.022| 0.0085 ~  0.028
THE  |EE® ERREFB FERDD| 4 0.0082| 0.0046 ~  0.015
=GR BE™H HERERR FRERED 4 0.0098| 0.0076 ~ 0.013
=HE | HASETERRERES FERDD| 4 0.012| 0.0089 ~  0.019
EREE |ERE® INER IR SEERD| 4 0.099| 0.024 ~ 0.31
EREE |ERE® 75 Bl i X FERDD| 4 0.059] 0022 ~ 0.15
BEREE [BERETH SEJH X RERRED| 4 0.14 0.035 ~ 0.42
R e HEELHARFE FEREDD| 4 0.010| 0.0070 ~  0.019
B | HETRREFELL 2 — FEFEDD| 4 0.029| 0.019 ~ 0,037
piaak Y= EE=ni EE=hil 4 FRERED| 4 0.0053| 0.0039 ~ 0. 0066
HEE | BRBEARE |ERREASELtTY 2 — FEFEDD| 4 0.011| 0.0076 ~  0.013
FUHAEHERIE. BEERVUEZZ2STCFRIULOAESER IATOEVMEAZST,




FERHIBEES A A X VEREATRERE (XR)

RE
HERFRE R BT A A Mg 8 ﬁ TiiE | REEE (pe-TEQ/m) % =
| (pe-TEQ/m®) | &/ 8X
EE  [fLIEm TEaER AE 4 0.092] 0.028 ~ 0.21
JtiEE TEE™ ELEE™ - EiE36E NE 2 0.019 0.011 ~ 0.027
BER £ EmnmiEEEHR NE 4 0.065 0.036 ~ 0.094
BER FHEM FHEZKBHRE NE 4 0.061 0.037 ~ 0.081
BER o4l SxTEHR AE 4 0.072 0.038 ~ 0.11
FER ill:l HINERITERS NE 4 0.073 0.041 ~ 0.12
FERE ickil TEBITE B NE 4 0.083 0.045 ~ 0.14
Et) RIX BAEHEBER NE 4 0.054 0.043 ~ 0.064| TR I8EERELRE
FEE  |FBm HEFADEHE A RANER #E 4 0.024| 0.0070 ~  0.036
BEE  |EEm BHRARER HE 4 0.020| 0.015 ~  0.025
B3 E R #hIlmH BITHEEFE L2 — NE 4 0.022 0.015 ~ 0.035
BEE  |EEm B R HE 4 0.022| 0.019 ~  0.025
BHIE EX==401 ETFKERILEEFRB NE 4 0.050 0.034 ~ 0.066
BHIE 24Em SER AE 4 0.029 0.023 ~ 0. 041
BB [ [E T 55 = K &R E AT NE 4 0.033 0.022 ~ 0.049
BRI FriR™ FRIRM&IBE NE 4 0.088 0.056 ~ 0.12
KBRFF L) &R NE 4 0. 031 0.021 ~ 0.047
KBRFF WwHET WA SEFFHIRE NE 4 0.054 0.032 ~ 0.086
XRFF  |=|m SRR HE 4 0.039| 0.026 ~ 0051
KRFF |EABRT BEARTBEGERE 2 — AE 4 0.082| 0.064 ~ 0.13
KBRFF PR {EBE T EEREEBHEHER BB 4 0.062 0.045 ~ 0.077| ERISEERELRE
FIE ISt ERAEFTAER NE 4 0.045 0.023 ~ 0.085
BIRE Wi AKABIE B NE 2 0.026 0.014 ~ 0.038
SR =ik RIRILETR NE 1 0.015 0.015 ~ 0.015
a8 2™ ik iia) NE 4 0.024 0.019 ~ 0.033
IR |R&H RBHEFTAER HE 4 0.037| 0.020 ~  0.053
REARE REARTH JKEHRTEIE B NE 2 0.054 0.038 ~ 0.069
REARE REART K AETAIE B NE 2 0.061 0.052 ~ 0.069
REARE REARTH RATREERT—IL NE 2 0.056 0.038 ~ 0.074
FFR #ymH W E R NE 4 0.029 0.018 ~ 0.041
BEREBE [EEIAHT JIIINB AE 2 0.036 0.028 ~ 0.044
EVHAERRE. EERUVELAEFETHERULOFENERE I TRV EZST,




